2009 = =0l &b 2B A

A MSAZASA

ALY AZSH

el HMSsAIE

SN C(BH) - NRAY - HES Aro Soe HlmE2

HSAE AN A 5,208,841 4,684,751 524,090
J| 83,706
& 154,289
Al 4,970,846

AR A2 SH 4,572,315 3,233,351 1,338,964
Il 83,706
& 154,289
Al 4,334,320

M=AIE 447,392 440,502 6,890
& 50,000
Al 397,392

HEANd29 (B 50,000 30,000 20,000
= 50,000

401 A&l 50,000 30,000 20,000
& 50,000

01 A&l 50,000 30,000 20,000
OZ LA o AX 50,000
= 50,000

HMEAME29 (XHA) 397,392 410,502 A13,110

101 ol t| 27,576 47,700 A20,124

10 JIZHNZ2Z2NSE 27,576 47,700 AN20,124
OMEEY 19,776
—JlEs 1,300,000 x 12«1 15,600
— =i 52,0002 +513+12] 2,652
— 4 Xt 52,0003 12 x1H 624
—2+AalY 3,000& x5 128 x1H 900
OgstsYy 7,800
=] 75,0003 x252 x4 H 7,500
— 2HAIY 3,0002 %252 x4 300

201 Letd| 295,928 302,306 26,378

01 AtR2te 42,908 21,486 21,422
Ogptag 42,908
—0lelg A FotH =32 42,908




A MSAZASA
A ALY AZSH

=R MSAE (&9 ®H
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
SHE X 50,0003 62 A x12& 3,600
HEEtES 32,000& 7t A 12 2,688
Hl % 30,0003 x5t A x12& 1,800
HAEBE 40,0003 x9S =12 4,320
dD|HER 150,000& = 12& 1,800
=2 = HH 2,00000 *500& 1,000
=8 @29 HE 300H*50,000& 1,500
AL S I 400,000& 53| 2,000
SILIXIA 800,000& 4= | 3,200
NI & oK g ek 250,000 = 12& 3,000
e+ 1,500,000& = 12& 18,000
02 =229l 253,020 280,820 A27,800
O=s32= ¥ AHA 123,420
—0lelga &IIe3 5,900,000 = 12& 70,800
—0lelga &ot=E s 4,000,000 x12& 48,000
—SZNERES 1,600, 000& *23] 3,200
—Ql2lga REAIERZ 35,000& *12& 420
—UUBH2SE U= 1,000
Od =zl 126,000
—0lelg & 15,000 m" *700& *12& 126,000
OAl&2 &8l Xlbl 1,800
—dAJ7 & 2l 150,000& = 12& 1,800
OXtEE & Ery| 1,800
202 Oidl 6,240 0 6,240
01 =2WHbI 6,240 0 6,240
O=LHA I 6,240
206 M=l 50,848 43,696 7,152
01 &l 50,848 43,696 7,152
OUBTHSER U BEAIY M2 26,848
—HZ=H 10,000 5 *43| *2JH A 400
— oML S 50,0003 *5H 123 24 A 6,000




A MSAZASA
A ALY AZSH

9 HSAlL (£ @ e
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
—SHLMAS 10,0003 * 16 x53| x2 Il A 1,600
—3istdl = 25,000 * 12 L x 73| x2 0 A~ 4,200
—SIIEHl & 60,0003 *6 ;L 6 3| 2,160
-0 60,000& *4= *x43| *2JH 2~ 1,920
—HHE At 30,000& x40 | *23| x2 I A 4,800
—&CE 50,000& x4 L x23| %2l A 800
—E&0 23,000 108 m" *x2JH A 4,968
Ooflelg&2+=9 % =2l
2,000,000 x12& 24,000
307 QI2tolA 16,800 16,800
05 OQIZtE 16,800 16,800
O&fol&H| S(0lelg 22 2A)
200,000& *3IM 2~ =124 & 7,200
O&EI|otA 2 FE 2 7,800
-4z 400,000& x12& 4,800
—S3AH=3 250,000%12& 3,000
OdelHioe 2t ==
150,000 *12& 1,800
M= Al A 1,140,955 803,309
HMSAE22 (XHA) 1,140,955 803,309
101 Q14 d| 207,268 207,537
10 JI2tHZ2 2 Xt = 207,268 207,537
Oblelg 2 33,426
—JE2=2 32,0003 210! »3H 20,160
—F=XE 32,000& *423=+3H 4,032
-5 32,0003 *1.5%432 x3H 6,192
PN, 32,0003 x12 x3H 1,152
—2HAMH| 3,000 210! *»3H 1,890
Oflelga H&E2dy 9,078
—Jl2= 32,000& 210 *x1H 6,720
PN ES 32,000 *423F=*1H 1,344
—@xt= 32,000& 12 *x1H 384
—2tAlH| 3,000 *210 *1H 630




SN
X XH .
(=

chel:

HSAIEALE A&
AR AASA
X = Al & &H|

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OLYZSH2SE = . BX&CRE 22 30,337
—JlEs 36,3302 2102 *3H 22,888
—F=x=g 36,3303 *42=+3H 4,578
= PNE= 36,330& x99 »3H 981
—2+AlH| 3,000&x210 »3H 1,890
OLAZH2SE & .2 S3EFH 8,982
—Jl2a 32,0002 2102 *1H 6,720
—F =g 32,0003 *42==x1H 1,344
—EXxt=g 32,0003 x99 x1H 288
— 24| 3,000 2102 +x1H 630
OZatH=ssl2 & el 3 EHI 8,982
—JlEa 32,000& 210+ 1 6,720
— =X 32,0003 »42=+1H 1,344
—Ext=g 32,0003 +x92 x14 288
—2tAlH| 3,000&*210 x1H 630
OHEZSLE2SE EHss2=H 22| 4,513
— 2021 32,000& 15 x5H 2,400
—2hAlH| 3,000& 152 x5H 225
—&CI 2], =222 36,3303 122 x4H 1,744
—2hAlH| 3,000& 122 x4H 144
Ollelga, SE2s¥=H =X22 16,400
— =202 32,0003 60 x5H 9,600
— 24| 3,000& 60 x5H 900
&0, ==2els
36,3303 *30 x5H 5,450
—2+AlH| 3,000 30 x5 450
OSHE Mss3A2(160 SHS) 95,550
—Jl2a 32,000 90 *25H 72,000
— ==Y 32,0003 *18F+25H 14,400
—4@x==g 32,0003 x32 x25H 2,400
— 24| 3,000 x90 x25H 6,750
201 ereoty| 189,247 174,722 14,525




D HISAIEAE A
DAY AASA
CHSAIEEI

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
01 At22teldl 13,600 12,700 900
Oexz 13,600
—HESAL (S, 004,200 85) 2 13,600
02 =329 175,647 162,022 13,625
O3s32=2 % HMA 69,487
—SEH2sE =323 3,553,000& +x12& 42,636
—ZSHEIE B3RS
1,818,000& *12& 21,816
—SHE MSANE s32= 3,835
—2UHMSAE(HR) SIHEEZS
30 2~ %400, 000 1,200
Otz 8,160
—ZH2SH 23R
8002IE{*1,700& *6& 8,160
OAlE &HI KXl 98,000
—0l2lg& SXNES, 2l 50,000
-2, EHEIS FANES 30,000
— 0|2l 2220 A JIHEH |FXNES 15,000
—SH MSANE (ML) SXNE> 3,000
203 YRF=L&H| 1,500 1,000 500
03 AIMF=AHLRFLEIH| 1,500 1,000 500
Ooflelga 28 gR2F&| 1,500
206 XH=Hl 22,840 28,550 A5,710
01 MZHl 22,840 28,550 25,710
O=Hs MNEesdsA22 HEY| 22,840
401 AIEHIZL20HYI 666,000 348,500 317,500
01 Al&H] 666,000 348,500 317,500
OYASH2SE =2U= AMEHES 50,000
O=ztM=sa2 Xsds L AAES 70,000
O =ZEX SYYSAIE FHI 60,000
OLAAEX L SUMEAIE 24 FH| 50,000
OLASE2SH A2 Jt2s FH| 70,000
OUAZHSES NZBIEIY I 11,000




A MSAZASA
A ALY AZSH

@ MSAEFY (St &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
Oflelga 2= H. B 205,000
Oflelg2t=9 2|32 Y HoEY B4 80,000
O2=&(F3d) & 20,000
Ottt ME=sd &l 15,000
OdtgMs=s3 &l 25,000
O&AAIE A 10,000
405 KHaHE S H] 54,100 40,000 14,100
01 AAMTSSFSHI 54,100 40,000 14,100
O=Z2A WA (1) 6,000
OHHEQIEHIZE X= & AEH 2 30,000
O2stMd=E3& X 2 12,000& *800H 9,600
OJ=ds=d2e sSH=I 2 01H) 8,500
MEH =R 2,983,968 1,989,540 994,428
J| 83,706
= 104,289
Al 2,795,973
HESHHX(EX) 807,000 607,000 200,000
== 96,000
Al 711,000
301 dE8AZ 800,000 600,000 200,000
= 90,000
Al 710,000
11 sda . 2SESEA=2 800,000 600,000 200,000
OHHEDIEE S 01 HH & 2| 650,000
o= 90,000
Al 560,000
OBHERIE N4 AJIR2H] 150,000
307 2I2tolA 7,000 7,000 0
= 6,000
Al 1,000
03 AMIHHEES 7,000 7,000 0
OMeEsIHISAMH 29 2,000
T 1,000




A MSAZASA
A ALY AZSH

CIol: MEIS EERE
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH %Eﬁiﬁ Hns2

Al 1,000
OMEXSUE S 5,000
= 5,000

MERSDA(EX) 20, 160 22,400 A2,240
p] 4,032
[ 4,704
Al 11,424

307 QI2HO|H 20, 160 22,400 2,240
p] 4,032
= 4,704
Al 11,424

I EELEES 20, 160 22,400 2,240
OMEHSDY 2 20, 160
J| 4,032
= 4,704
Al 11,424

H2UMEHS X (2X) 20,928 20,580 348
J| 10,464
Al 10,464

307 QI2t0|H 20,928 20,580 348
| 10,464
Al 10,464

03 AtslEeEx2 20,928 20,580 348
OHZAHLYMEYS KT 1A 20,928
J| 10,464
Al 10,464

MBHEI2 W (EX) 33,780 21,600 12,180
p] 16,890
= 3,585
Al 13,305

307 Q20| 33,780 21,600 12,180
p] 16,890
= 3,585
Al 13,305

L EES) 33,780 21,600 12,180




A MSAZASA
A ALY AZSH

ol MBS (9l |8l
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SCEREER 3,960
| 1,980
Al 1,980
OF+TIS 4,320
| 2,160
Al 2,160
OFaY MaEwa 3,960
Il 1,980
Al 1,980
OWdMaM= 4,680
Il 2,340
Al 2,340
O2glig a8 Msns 2,520
I 1,260
Al 1,260
OMSH=X 14,340
| 7,170
< 3,585
Al 3,585
HAWMEHNSE NESXHXA(EX) 104,640 102,900 1,740
Il 52,320
Al 52,320
307 QIt0IA 104,640 102,900 1,740
| 52,320
Al 52,320
03 AMIHHEXZ 104,640 102,900 1,740
OMEMSX A 12| 104,640
| 52,320
Al 52,320
M AHCKREA) 1,937,460 1,215,060 722,400
201 Lt 134,200 137,800 23,600
01 AtS2eld] 52,200 55,800 A 3,600
Ooget=gHl 45,000
—OlctENa SHH 2 Hal D= 8,000
—0OtetEU S 22212018 &l 4,000




SA: RIKAL AR A
Hal: AR HASEX
ol MBS (E+9): @2

SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
—0I2tEUSIAIR A 2 3,000
—OlctEda &2 25,000
—0t2tEUSl OrXl & Z e A 5,000
OYxt= 7,200
—0ictEUS Olsstda dXt=z 7,200
02 3224l 2,000 2,000 0
O=2222 % HMA 2,000
—OIctEAEA 29 2,000
03 #AI2HHI 80,000 80,000 0
OAMSIHMEUE SsHsS A
5,000,000& *16HSHS 80,000
202 O4Hl 5,000 5,000 0
01 =Uhotdl 5,000 5,000 0
OOfetE 2 2E0E 2201l 5,000
203 YRF&H| 12,000 8,000 4,000
03 AMF=XARFZRIHI 12,000 8,000 4,000
OXNSHAIFE 2L MSHAM2E S 3,000
OAUF MsSEAI RFA 6,000
OX=ZHIAMSA SXNVUES S 3,000
207 HAFINEHI 6,000 0 6,000
02 & AIHEH] 6,000 0 6,000
OltctEA A SHO0IXl JHH 6,000
301 dE8EAZ 30,000 0 30,000
07 QI2toI=2Q| 04| 30,000 0 30,000
OBHEQIE > =M &I1Z Y|
1,500,000& *10H x23] 30,000
307 QI2tolA 1,109,260 914,260 195,000
03 AMIHNHEEZ 77,260 76,260 1,000
OM=3 &9ul 29,260
MEH=E2S AIR= 29| 28,000
O¥=83 A& 10,000
Osad =228 29 10,000

04 BQIZFSHAIE X 1,032,000 838,000 194,000




SA: RIKAL AR A
Hal: AR HASEX
ol MBS (E+9): @2

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ogoteld0tetEUE] 190,000
O3.1&8718 8303l 10,000
O 2x=sl 130,000
OABIH=HE 40,000
OAlI e =2 30,000
OAlelz<eld|ItHal 10,000

COIMEXN =M &It 50,000
O NES2HZU3 3,000
OAIED|l AlBI=ZZ0H3 7,000
OM90sl d=x=CH3 3,000
OAEI| BHESIEHT S 7,000
OAZEI HolEEUE 6,000
OAIEII HILIATHE 7,000
OXM=a Alata 7,000
ONEHISHM A& 20,000
OHEMMEH S 3,000
OHM3sl AIEI &= =23 12,000
OEM == ¥ HI|& & 80,000
OEZ=EARX 100,000

TS 2 AILHAMSHA 20,000
OME=s 43 10,000
OFAY ZAUa(x,5,1) 5,000
O XS EH JH2E=ZUHE 3,000
O=s5°9l OtetEu s 3,000
OABI=ZHTH3l 10,000
OdIFSHZIIUIE SLUSSHLELUHS 80,000
OM415 =251 HHECIE SR TS 180,000
OAZEIl EFU=2 6,000

401 Al &HIZ20YI 641,000 150,000 491,000
01 A&l 641,000 150,000 491,000
OsUd=sAld X 585,000




A MSAZASA
A ALY AZSH

=Pl dEMF

SN I SRI(S) - NRAY - B sk e 2t
Ollelg2x27E AME &Y &X 45,000
om=a==s& g Wi 6,000
O&A A& A 5,000
M= e A& (KA 60,000 0 60,000
301 ptsazg 60,000 0 60,000
11 =t - 2SFEELS 60,000 0 60,000
OAAE &= 12dd] & 2| 60,000
HE2ALU (MSAEAS L) 386,526 306,400 80,126
ol 2o 321,498 248,465 73,033
oA 2AHI (KAl 321,498 248,465 73,033
101 el2iH] 317,978 244,945 73,033
02 =¢ 54,980 51,926 3,054
O=U2R=H 54,980
—53 9,796 *45A| 2t 123 1 5,290
—6= 8,312 «45 Al 2tx 123 3L 13,466
72 7,457 3 45N 2tx128 +3H 12,081
—8= 6,682 *45 Al 2tx 123 x4 H 14,434
—9= 5,993& 45 A 2t 12 +3H 9,709
09 RIAHAZZXHE S 262,998 193,019 69,979
O AHEH) 29,626
—Jlaa 45,0003 *1.055%250 1 11,869
—J|2==E 11,868,750 *4/12 3,957
—AN2Ze 2R
6,000 *45A] 2tx 123 1Y 3,240
—FX==g 45,0002 «51F=+1H 2,295
—5Y22E 45,0003 *1.5+562 «1H 3,780
—Gxts=g 45,0002 «172+1H 765
—g Al 120,000 x12&x1H 1,440
— S| 50,0003 123 +x1H 600
— =LYl 50,000 x12& 1Y 600
—E8&¥+E 50,0003 *12& +x1H 600
A= 40,0002« 128+ 1H 480




A MSAEAE A

M HE2IAZH(MSAIEAI L)
LA
T o

ciol: oIS o
= TISEIE = 5 e
SN B SRA(SIH) - MBAY - BAS 0l &k 24 i

O=ZZ At 101,518
—JlEs 38,0003 »1.055+250 x4 40,090
—J|Z=g 40,090,000 *4/12 13,364

—NZeaeay
6,000 *45A| 2t 128 x4H 12,960
— =Xt 38,000& *51=+4H 7,752
—5e=g 38,000 *1.5+56 2 «4H 12,768
—Gxt=== 38,0003 172 *4H 2,584
— =4l 120,000 *12& «4H 5,760
— sl 50,0003 = 12& »4H 2,400
— 3L Bl 50,0003 123 x4 2,400
—Jtat3a 40,0003 » 122 «3LH 1,440
OJIH 22l & 27,814
—Jl2a 40,8103 *1.055+250 x1H 10,764
—J|Z==g 10,763,637& *4/12 3,588

B ELE
7,660 *45A| 2t 128 15 4,137
—F=x==E 40,8103 +51F+1Y 2,082
—5Y=H 40,810 *1.5+56 2 1Y 3,429
—Gxt== 40,8103 17214 694
— =4l 120,000 128 «1H 1,440
— sl 50,0003 12& +x1H 600
— 3L bl 50,000 123 1Y 600
—Jtat=a 40,0003 x 1281 480
Oet =<0l 39,075
—Jl23 32,000 *1.055+250 x2H 16,880
—Jl2==g 16,880, 100& *4/12 5,627
—AZ2AZ R G 6,000 x45A| 2+ x2 & 2 H 1,080
— =X 32,0003 *51=+2H 3,264
—5=g 32,0003 *1.5+56 2 x2H 5,376
—Gxt=== 32,0003 172 +2H 1,088
— =4l 120,000& *12& »2H 2,880




SH: HSAE ALY A
HH: HHSABH(MSALAYL)
Sl Ol 2| (5 &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K glgaf; Hws2
— et 50,0002+ 128 +2 3 1,200
—=LH0iH] 50,0002+ 128 +2% 1,200
—oh3 40,0002 122 +1% 480
onCIZR 18,057
—Je3 32,2802 *1.055+2502 1 8,514
RS, 8,513,85021 %4/ 12 2,838
— Al2tel g 6,060 *45A| 24+32 123 819
—E=xag 32,2802 %517 41% 1,647
—pYaRsy 32,2802 %1.5+252 1 1,211
—Ext g 32,2802 %122 1 3883
— 24| 120,000 * 122 1% 1,440
~ RSy 50,0002+ 128 1% 600
— =018 50,0002 %1281 600
OHSAIL 222 21,870
—J=3 32,0002 *1.055%2502 1 8,440
—Jlesy 8,440,00024 x4/ 12 2,814
— AlRtel g 6,0002 *45A1 24122 1 3,240
—E=xag 32,0002 %511 1,632
—FYsg 32,0002 %1.5+56 2 1 2,688
—dxtag 32,0002 132 1 416
=L L] 120, 0002 * 128 1% 1,440
— DSy 50,0002+ 128+ 1% 600
— 20l b 50,0002 %1281 600
o=l 200, 00021 +8% #25 3,200
O=arSB Helg 21,838
—Jle3 32,0002 *1.055%2502 1 8,440
—Jlesy 8,440,00024 *4/ 12 2,814
— ARSI 2R Ag
6,002 *45A1 2+ 1281 3,240
—E=xag 32,0002 %5151 1,632
—FYsg 32,0009 %1.5+56 2 1 2,688
—ERag 32,0002 %122 1 384




FM HSAEAE A
X ZH: BH K
(==l I (==}

crel: ol CLEL
A BB O(B) - NEAY - BAS Of o e Hl R =2
—g Al 120,000 *12& 1 1,440
—uwEH| 50,000& 128 x1H 600
— =L Y| 50,0003 *12& «x1H 600
203 YRF&Y| 3,520 3,520 0
02 HAINMHRFEI 520 520 0
O&J A& & 40,0003 139 520
04 REN2IIRFLH 3,000 3,000 0
OFMEZHI 250,000& 128 3,000
Jl2Z&Hl 65,028 57,935 7,093
J12Z I (XAl 65,028 57,935 7,093
201 LBH2HH| 34,948 27,515 7,433
01 AtS2eld] 34,948 27,515 7,433
OFAM2EII22Z I 34,948
202 Oidl 30,080 30,420 A 340
01 =UWaodl 30,080 30,420 N340
O=WaAbl 30,080
MRS (MSAEASA) 250,000 1,145,000 A895,000
LHEHCHXIE 250,000 200,000 50,000
LHEHH XIS (KHAI) 250,000 200,000 50,000
702 JI3HES 250,000 200,000 50,000
01 JISdEZ3 250,000 200,000 50,000
OM=saEII=LA 250,000




